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In the following table, indicate the correct answer for each of the 15 questions. For each correct answer, you get 4/3; for each wrong answer you lose 1/3. 
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1. In the ricardian model, a country that is unable to satisfy the world demand for the good in which it has a comparative advantage:

a) Will not gain from trade.

b) Will not engage in trade.

c) Will trade according to its absolute advantage.

d) Will capture all the gains from trade.

2. Assume the relation between the number of hours needed to produce the following goods in countries A and B (aA/aB) is:

Coffee

Iron 
Chocolate 
Autos 
Pencils

3/2

8/4
 6/2

15/3
  6/1

Assume further that the hourly wage rate is 16 monetary units in country B and 1 monetary unit in country A, and that the exchange rate is 1 monetary unit of A = 5 monetary units of B. In this context:
a) B exports autos and pencils, and imports coffee, iron and chocolate.

b) B exports autos and coffee, and imports pencils, iron and chocolate.

c) B exports pencils, and imports the other 4 goods.

d) All previous options are false.

3.  In the previous exercise, if the currency of country A depreciates below 1A=2,(6)B:

        a) Trade no longer takes place.

        b) A starts exporting more goods than before.

        c) The pattern of trade remains unchanged.

        d)All previous options are false.

4. Consider the following unit cost production costs in labour hours:

England
Portugal

     Cloth
   10

    9

     Wine
   12

    8

In this context:

a) England has a comparative advantage in wine.
b) The productivity in cloth relative to the productivity in wine is greater in Portugal than in England.

c) Both countries will gain from trade if the international relative price of cloth is equal to 0,95

d) England has an absolute advantage in both goods.

5. In the ricardian model with two countries, many goods and transport costs:


a) Each country specializes in the goods in which the relative productivity is lower than the relative wage.


b) Each country specializes in the goods in which the relative productivity is higher than the relative wage.


c) Option a) is false and option b) is not necessarily true.


d) Option b) is false and option a) is not necessarily true.

6.  According to the Ricardian model, Developed Countries can compete with Less Developed Countries because:

a) They are more productive in all goods

b) Their higher wages are offset by their lower costs of capital

c) Their higher wages are more than offset by their higher productivities in some goods.

d) All previous options are false

7. In the HO model, consider a capital abundant country that imposes a tariff on its imports of x. As a result:
       a) r increases and (K/L)x increases

       b) r increases and (K/L)x decreases

       c) w increases and (K/L)x increases

       d) w increases and (K/L)x decreases

8. Under the Stopler-Samuelson theorem, trade leads to:

a) An increase in the income of the factor of production intensively used in the imported good and a decrease in the income of the factor of production intensively in the exported good, both in real and nominal terms.

b) A decrease in the income of the factor of production intensively used in the imported good and an increase in the income of the factor of production intensively in the exported good, both in real and nominal terms.

c) An increase in the income of the factor of production intensively used in the imported good and a decrease in the income of the factor of production intensively in the exported good, only in nominal terms.

d) A decrease in the income of the factor of production intensively used in the imported good and an increase in the income of the factor of production intensively in the exported good, only in  nominal terms.

9. According to the HO model of trade:

a) The relative price of the imported good rises.

b) The relative price of the exported good rises or remains constant.
c) The relative price of the imported good falls or remains constant.

d) All previous options are false

10. According to the Rybczynski theorem, an exogenous decline in the supply of one of the factors of production:

a) Leads to a decrease in the output of the two goods.

b) Leads to a decrease in the output of the good intensive in that factor, and does not have any effect on the output of the other good.

c) Does not have any effect on the output of either good.

d) Leads to a decrease in the output of the good intensive in that factor, and to an increase in the output of the other good.

11. In the Specific Factors model, an increase in the price of good 1 relative to the price of good 2 leads to:

a) An increase in the purchasing power of good 2 by the mobile factor.

b)  A decrease in the purchasing power of the good 2 by the mobile factor.

c) An increase in the income of the two specific factors.

d) A decrease in the income of the factor specific to the production of good 1. 
and an increase in the income of the factor specific to the production of good 2.

12. In Krugman’s model of trade based on economies of scale under monopolistic competition, when two countries engage in trade with each other:

a) The number of firms in the world rises and the welfare of consumers rises.
b) The demand directed to the typical firm becomes more elastic.

c) The output of the typical firm falls and the welfare of consumers rises.

d) Some firms go bankrupt and the welfare of consumers remains constant.

13. Consider two countries, Thailand and Switzerland, and one good, watches, whose production is subject to external economies of scale. Currently, Switzerland is the main world producer of watches, whereas Thailand does not have a watch industry. The AC curve of Thailand is below that of Switzerland. Under these circumstances, if the government of Thailand imposes a temporary prohibitive tariff on imports of watches:

a) Thailand’s consumers will gain both in the short run and in the long run.

b) Thailand’s consumers will gain in the long run but lose in the short run.

c) Thailand’s and Swiss consumers will gain both in the short run and in the long run.

d) Thailand’s and Swiss consumers will gain in the long run.
14. According to the Kemp model, under external economies of scale:

a) The net effect of trade on each country will depend on the change in the terms of trade.
b) Both countries will benefit from trade.

c) One country will gain and the other will lose from trade.

d) The terms of trade will not change as a result of trade
15. In the Ricardian model with three countries, the pattern of trade of the “middle” country (the country whose relative cost is in the middle of the relative costs of the two other countries) will depend on:

a) The world demand for the two goods
b) The world supply of the two goods

c) Its level of development.

d) All previous options are false

